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Choose the correct answer.

1. The classical economic thought
believed in
a) Full employment
b) Unemployment
¢) Great depression
d) All
2, When MC = AC of a firm, its
a) MC 1s minimum
b} AC is minimum
c) MC nses
d) AC rises
3. The value of balanced budget multiplier is
a) 0
b) 1
¢) Greater than one
d) Less than one
4. A consumer’s budget line equation is

10x, + 20x, = 100. Then the slope of
budget line is '

a) -20/10
b) -10/20
c) 10/100
dy 20/100
5. An oligopoly market consists of
a) Many firms
b) Single firm
c) A few firms

d) None

(5%1=5)
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From 6-12, answer all questions.

6.

T

10.

11.

(Tx2=14)
Explain the main features of market
cconomy.

Show and explain the changes in market
equilibrium price and quantity under the
following cases.

a) Income of the consumer increases.
&

price P

o Q quantit

. Classify the following into micro and

macro economic analysis.

{(Income of a houschold, the policy
of RBI, profit of a monopoly firm,
calculation of GDP of a nation).

. Describe the concept of “liquidiry trap’

with suitable diagram.

What are the two major accounts of
balance of payments of a country ?
Identify the accounts of balance of
payments in which the given transaction
is included. “RBI sells government
securities to foreign investors™.

Complete the table.
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Determinants of supply
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Relation to supply (positive/negative)
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Price of the good
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State of technology
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12. Complete the table of a monopoly 12, ety dnymrmds (iomormEa rummom algke:
firm. dloeyrmy. aybamilaosas.
Q 1j2]3]|4|5|]6]7]8] 9
MR Wjej212(2|0(0]0}-5
Elasticity
=1, >], <l
From 13-19, answer any 6 questions. 13 gyt 19 cusw agemaleyo 6 eolosyemudesi
(6x3=18) | ermoensmd:. (6%3=18)
13. Analyse the important features of a 13. audinydem adiron crootoaariler e @
perfect competitive firm. b AL Be.
14. Differentiate flexible and fixed exchange 14. mewoyss allefow cieene qude allmiao
rate systems. o medijo QLIS ISIETE .
15. sruzsosmoniec] suag eraeswlo

15. Consumers optimal choice can be
located graphically with the help of
indifference curves and the budget line
of the consumer.
a) What is consumer’s optimal choice ?
b) List out the necesssTy conditions
needed for optimal ‘choice in the
graph.
Condition 1: ___
Condition 2 :
16. Explain reasons and different types of
the central economic problems of an

gconomy.
17. Please thE Hima to prepare a chart
needed for her seminar paper ‘Monetary

Policy Instruments’.
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Condition 1 :

Condition 2 :
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Monetary policy instruments
oEMMmE Daloullesid

Reduce money supply
AR EOMe En)OOidn

Increase money supply
alemirlGamo cubadiaflenia

Bank rate
SML0ES GO

Cash reserve ratio
Sty Wmomalo®e

Open market operations
AN | BHETUIE InlCUdmmmensgd
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18. Correctly rearrange the equations of

measures of deficit in the budget.

a) Revenue deficit = fiscal deficit —
interest pavments

b) Fiscal deficit = revenue expenditure -
revenue receipts

¢) Primary deficit = wotal expenditure —
({revenue receipts + non debt creating
capital receipts)

19. Distinguish between value of output
and value added.

From 20-23, answer any 3 questions.
(3x4=12)

20. In an economy, marginal propensity
to consume (mpe) = 0.5 and marginal
propensity to import (mpm) = 0.03.

a) Calculate closed and open economy
multipliers.

b) Compare the result.

W ¢) What 1s the effect on income of the
economy when there is an increase
of Rs. 250 crores in exports of the
economy ?

21. Explain the profit maximization of
a monopoly firm with the help of a
figure.

{Hint - Use positive cost analysis with
average and marginal curves)

22. Describe the major sources of money
supply in our country. Classify them as
narrow money broad money and real
aggregate monetary resources of our
country.

23. Examine the limitations of GDP as a
measure of social welfare,
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From 24-27, answer any 3 questions.

(3%5=15)

14. There are three methods of measurement
of GDP of a nation.
a) Calculate GDPmp, GNPmp and
NNMPfe using the data given,

TR TE

Score
24 gymad 27 cuen agemmlale 3 .16 R0
6T REIDP T . (3»5=15)
24. ey comyolad afl.aflall @oemyrmale’
@y mobemth Heng.

a) moridlenim awog Onewouile] GDPmp,
GNPmp, NNPfc agomilcy @oamye

Household consumption expenditure

mmofbeead &gl

3 1800 crores
tn2ibnfldn BrlEEsw faRIal]
Private invesmment expenditure
L 1100 crores
T rilSdntind 81oleind
Gt‘l'.-'-E!'I'If‘I]TLEl‘Il ex '!CI'I!.liIlII'L‘
I 900 crores

Exports dnwymel

800 crores

limports @mes:@mﬂ

600 crores

Depreciation eargiomo

150 crores

Net indirect tax @) nismdd ol

125 crores

Net factor mcome from

adlercered oflmias @gealsss CummIme

abroad 100 crores

b) Which is the method used here to
calculate GDP?

25. A competitive firm’s revenue and cost
schedule is given. The market price of
each unit of the good is rupees 5/-.

a) Complete the table.
b) Draw TR, AR, Price line and MR curve

of the firm on the same set of axis.

b) GDP semenaenctt gl easmmauoeny
aafes pelewacilgm ?

25. any audaydem addmoe eemogeios
gy (Uoma@aileng uoiEamale
61018100 BB n g, mridlenimmy.
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a) gl audmmilaenie.
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TR, AR, ealmi esaimp MR al@ayo

CUDE .

Price | TR | AR

MR | TC | Profit

S h | | 2 | —
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26. Describe the important components of
budget.

27. Suppose the market equilibrium
price of sugar is rupees 45/kg. The
government fixes its price as rupees 35/kg,
Explain the policy of government and
its umpacts in the market with suitable

diagram,

From 28-30, answer any 2 questions.
(2x8=16)

28. a) Describe the concept of price
elasticity of demand and the types
of price elasticity.

b} Find price elasticity of demand for
rice and wheat,

Rice Wheat
Price Demand | Price Demand
45/kg  120kg | 35kg 100 kg
35/kg 100kg | 25/kg 50 kg

¢) Compare the result.

29. Mr. Yedhukrishna produces paddy
in his piece of land. The production

function schedule is given below.
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Rice Wheat
Price Demand| Price Demand
45/kg  120kg | 35ke 100 kg
35/kg 100kg | 25/kg 30 kg
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Machines | 1 | I | L[ L1 |1 ]1]1
TP 10122 )36]48 |55 |60)]60]| 564
AP - - -l-1-1-1-3
MP 2 | = abells]s [a]

a) Complete the schedule.

b) Explain the production function
used here.

c) Draw TP, AP and MP curves on
the same set of axis.

d) Explain the relations of TP, AP and
MP curves.

a) augles aydlallsnie,
b} pofles paicwocily pejoam whes
cullentsl e,

¢) men ORameET @nminicodss TP,

AP, MP agymiicd gy,
d) TP, AP, MP agorl culgnesach anad]
2as srumoemach afloudleans
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30. The figure given below represents the
determination of equilibrium of national
income of a country.

¥ national income

a) Identify the curves,

b) Explain the determination of
equilibrium of national income
using the figure.

¢) Measure the level of ex-ante
aggregate demand when
autonomous expenditure (A) is
50 crores, mps = 0.2 and level of
income is 4000 crores.

d) State whether the economy is in
equilibrium or not. Give reasons.
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